	

	http://www.cbseguess.com/



THE DELTA SUDY

MODEL EXAM 2006-2007

COMPUTER SCIENCE

CLASS - XII

MARKS:70








TIME:3Hrs

[image: image1.png]cbseﬁguess




Note: (I) All questions are compulsory. (ii) Programming Language:C++

1. (a)  Name the header file to which the following belongs: 


(1)

(i)scanf()  (ii)abs()

      (b)
Differentiate between run-time error and syntax error

 
(2)

(c) Rewrite the following code fragment after removing the syntactical error(s), if any.  Underline each correction  




(2)

class calc

{


int x=10;


float y;

calc()

{


y=5;

}

~calc { }


};

(d) Find the output of the following program.



(3)

#include<iostream.h>

struct MyBox

{


int Length,Breadth,Height;

};

void Dimension(MyBox M)

{


cout<<M.Length<<”x”<<M.Breadth<<”x”;


cout<<M.Height<<endl;

}

void main()

{


MyBox B1={10,15,5},B2,B3;


++B1.Height;


Dimension(B1);


B3=B1;

++B3.Length;

Dimension(B3);

B2=B3;

B2.Height+=5;

B2.Length--;

Dimension(B2);


}

(e) Find the output of the following program.



(2)

Void strfunc(char *s)

{


char *nam=”Delta”;


s=nam;

}

void main()

{


clrscr();


char *str=”School”;


strfunc(str);


cout<<str<<endl;

}

       (f)
Encapsulation is one of the major properties of OOP. How is it implemented in C++?






(2)

2.   (a)
Explain the role of access specifiers?


(2)

            (b)
Given a class as follows:

class Student

{


int sno;


public:



Student(int y) {sno=y;}  //Comstructor 1



Student(Student& s);    //Constructor 2

};

(i)
Create an object such that it invokes Constructor 1.
(1)

(ii)
Write complete definition for Constructor 2.

(1)

(c) Define a class named “MyFolder” with the following specifications: (4)

Private members of the class

Filenames 

-
an array of strings of size[10][25]

(to represent all the names of files inside





Myfolder)

Availspace

-
long





(to represent total number of bytes





available in MyFolder)

Usedspace 

-
long





(to represent total number of bytes used





in MyFolder)

Public members of class

Newfileentry() 
-
a function to accept values of Filenames,



Availspace and Usedspace from user.

Retavailspace()
-
A function that returns the value of total 



Kilobytes available.



(1 Kilobyte=1024 bytes)

Showfiles()
-
A function that displays the names of all



the files in MyFolder.

(d) Given the following class definitions. Answer the questions given 

below:








(4)

class Book

{


char Title[20];


char Author[20];


int No_Of_Pages;


public:



void read();



void display();

};

class TextBook : private Book

{


int no_of_chapters,no_of_assignments;


protected:



int standard;


public:



void readtextbook();



void displaytextbook();

};

class ComputerBook : public TextBook

{


char Topic[20];


public:



readcomputerbook();



displaycomputerbook();

};

(i) Name the members which are accessed from the member functions of class ComputerBook.

(ii) Name the members which are accessed by an object of class TextBook.

(iii) Name the members which are accessed by an object of class ComputerBook.

(iv) What will be the size of an object (in bytes) of class ComputerBook?

3.  (a)   write a function in C++ named UpperHalf() which takes a two dimensional array A, with size M rows and N columns as argument and prints the upper half to the array.









(2)

e.g.,


2 3 1 5 




2 3 1 5 


3 1 5 7  




   1 5 7 


1 0 6 8   
The output will be

      6 8 


2 2 5 4       




         4

     (b)  An array Arr[35][15] is stored in the memory along the row with each of its element occupying 4 bytes. Find out the base address and the address of an element Arr[20][5], if the location Arr[2][2] is stored at the address 3000.
(4)

    (c)
A one-dimensional array SCORE is containing long data type arranged in ascending order. Write a user defined function in C++ to search for a number from SCORE with the help of binary search method. The function should return an integer -1 to show absence of the number and integer 1 to show presence of the number in the array. The function should have three parameters as (1) an array SCORE, (2) the number SDATA to be searched, (3) number of elements N.
(4)

    (d)
Evaluate the following postfix expression using a stack and show the contents of stacks after execution of each operation.



(2)



120,45,20,+,25,15,-,+,*

    (e)  An array circular queue q[10] of integers exist, where currently, Rear=0,Front=1







(1)

Answer the following questions based on above given data.

(i) How many values are there in Queue?

(ii)  If, three elements are deleted, what would be the new value of Front?                                                                                                               

     (f)
Give the necessary declarations for a queue containing float type numbers; write a user defined function in C++ to insert a float type number in the queue. Use linked representation of queue.






(3)

4. (a)
Write a function in C++ to count and display the number of words starting with “C” in a text file “Textfile.txt”.



(3)

(b)
Assuming the given definition of class HOTELDATA, write functions in C++ to perform the following:





(3)

(i) Checkins() function to allow user to enter the data of customers (objects of class HOTELDATA) and write them to a binary file “HOTEL”.

(ii) Count() function to count the number of customers (number of objects of class HOTELDATA) present in the hotel.

class HOTELDATA

{


int room;


char nmae[20];


int duration;


public:



void enter();



void display();

};

Also complete the member function definitions.

5. (a)
State and verify DeMorgan’s theorem



(2)

(b) Interpret the following logical circuit as  Boolean expression   (2)

a

b










f

c

d

(c) Reduce the following Boolean expression using K-map.
(3)

F(A,B,C,D)= ((0,1,2,4,5,7,8,9,10,11,14)

(d) Prove that XY+YZ+YZ’=Y





(1)

6. (a)
Define cardinality and degree of a table.



(2)

(b)
Consider the following tables EMPLOY and DESIG. Write SQL commands for the statement (i) to (v) and give outputs for SQL queries (vi) to (viii)








(6) 

EMPLOY

	W_ID
	FIRST NAME
	LAST NAME
	CITY

	102
	SAM
	TONES
	PARIS

	105
	SARAH
	ACKERMAN
	NEW YORK

	144
	MANILA
	SENGUPTA
	NEW DELHI

	210
	GEORGE
	SMITH
	HOWARD

	255
	MARY
	JONES
	HUSTON

	300
	ROBERT
	SAMUEL
	WASHINGTON

	335
	HENRY
	WILLIAMS
	BOSTON

	400
	RONNY
	LEE
	NEW YORK

	451
	PAT
	THOMPSON
	PARIS


DESIG

	W_ID
	SALARY
	BENEFITS
	DESIGNATION

	102
	75000
	15000
	MANAGER

	105
	85000
	25000
	DIRECTOR

	144
	70000
	15000
	MANAGER

	210
	75000
	12500
	MANAGER

	255
	50000
	12000
	CLERK

	300
	45000
	10000
	CLERK

	335
	40000
	10000
	CLERK

	400
	32000
	7500
	SALESMAN

	451
	28000
	7500
	SALESMAN


(I) To display W_ID, firstname, city of all employees living in New York from the table EMPLOY.

(II) To display the content of EMPLOY table in ascending order of firstname.

(III) To display the firstname, total salary of all Managers from the tables EMPLOY and DESIG, where total salary=Salary+benefits.

(IV) To display the maximum benefits among Manager and salesman.

(V) To display the firstname of all employees whose name starts with “S”.

(VI) SELECT FIRSTNAME,SALARY FROM EMPLOY,DESIG WHERE DESIGNATION=’MANAGER’ AND WORKERS.W_ID=DESIG.W_ID;

(VII) SELECT COUNT(DISTINCT DESIGNATION) FROM DESIG;

(VIII) SELECT DESIGNATION,SUM(SALARY) FROM DESIG GROUP BY DESIGNATION HAVING COUNT(*) < 3;

7. (a)
Explain function of hub and router.


(1)

(b) Expand the following terms:



(2)

(i) URL
(ii)  ISP
(iii)  DHTML
(iv)  CDMA

(c) Differentiate between message switching and packet switching (1)

(d) Indian Industries has the following four buildings in Chennai.
Distance between various wings are given below: 



	PRIVATE
Wing II1 to Wing II 3
	70m

	Wing II1 to Wing II 2
	20m

	Wing II 1 to Wing II 4
	115m

	Wing II 3 to Wing II 4 
	30m

	Wing II 2 to Wing II3
	25m


Number of Computers
	PRIVATE
Wing II 1 
	35

	Wing II 2
	25

	Wing II 3
	80

	Wing II 4
	60


i. Suggest suitable CABLE LAYOUTS FOR THESE BUILDINGS. (1) 

ii. Name the wing where the Server is to be installed. Justify your answer. (1) 

iii. Suggest the placement of Hub/Switch in the network. (1) 

iv. Mention an economic technology to provide Internet accessibility to all wings. (1) 

II1





II 2





II 3





II 4
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